GRS

wRIZEEESR »

ALK

) FH %154
RMER | J0E | e | K B | A5 R RELLE
YECO01| YEC21 | YEC41 E= PEKERES58~61HRC —
YECO02 | YEC22 | YEC42 EXEE58~61HRC, EEBESS0HV~ BB BEEE3~5um
YEC11| YEC31 | YEC51 , 9CrWMn| SKS3 FEKIEES8~61HRC —
YEC12 | YEC32 | YEC52 ERE FEKIERE58~61HRC , EEBEREB50HV~ [  BEEE3~5um
IAERL YEC01/02/11/12
EE
‘Ole001A] =
W o)
s 9 ° ] gl 3
LI ©
) e [
3 c
ESs_| B9 | L8 vo_| v ‘
aF = @

30 iR | A

FEMIE YECA1/42/51/52 EE Sigm
V3 %1
e | 4
00 Jpo PEE =A_ G
’ﬁ\ W0 T B
[ — T I i
S ° s 9 ) o
O&C) 7&%7* — _{477777 — D‘:" +H i +— 11— 11 - D"—" |
) e | g
3 E c N B [
S| 04, ol 04,
Eds B'§° \{Ug.s Eds B'§° \[L*RSXZ O S, REX. Y
3%8° 3'8° e LRI B,
¥1 VaRY A LR Rk B N & X2 L>A+G+1
[® FRiEE
By BANE[0.01 | SRR | R/NR{YO.1 (W)
[AE] Dgs ) L B d \ V2 (¢} E s PEEFIEE
6 %% | 2.00~6.00 3~15 4.5 5 5 1 3.5 8 3 1.5
R :S 3.00~8.00 i:lg — 6.5 2 6 s 1| 35 | 18
YECO1 T0s | 0% 4~22 3 '
YECO02 m 3.00~10.00 5222 8 s 45 13 4 2.2
E2rEs 12s oty 3.0~20.0 . 2
YEC11 5.00~12.00 10 15 5 2.5
12 0,006 6~26 8 8
YEC12 0.008
16s | ™ 7~35 4 2
10.00~16.00 14 19 7 4
16 8~35 5.0~20.0 8 3 5.5
20 | 385 | 13.00~20.00 10~42 18 8 3 23 9 5
[OR71]mE:A]
BHE B/NRW0.01 | SRR | SN0 | kg | | h c E s | ERE (W)
53 Dgs P L B A= LEEN82%[ D < PR | D2PAT
6 |$38% | 5.00~7.00 12~22 55] 25 | 1.0 3.5 8 M4 3 1.5
, , 8 | .0005| 5-00~9.00 14~25 1.5 11 M5 | 35 | 1.8
\Ecg; i*f% 10 | 9| 5.00~11.00 15~27 5.0-20.0 X 75|35 | 12|, 45 | 13 M6 4 2.2
YEG22 YEG32 |12 2008 5.00~12.00 15~27 Y 15 M6 5 2.5
16 10.00~16.00 24~37 105|585 |, |, 55 | 19 M8 7 4
20 | 389 | 13.00~20.00 27~42 13.5| 8.5 ‘ : 23 9 5
O X, YRI(ERTFSHE,
@ FEmnITE
BE S/NEA70.01 | B/NER | B/NEAT0A| B/ | BNERI0.1 | 1E%E N . E s | B (W)
(AS ] Dgs P L B G A A= 1242 (D < PR | D>PRY
ER 6 | 38% | 5.00~7.00 12~22 2.0~8.0 1.0 3.5 8 M4 3 1.5
YEC41 8 | 0005 | 5.00~9.00 14~25 2.0~12.0 1.5 11 M5 35 | 1.8
YEC42 10 00141 5.00~11.00 | 15~27 5.0-20.0 39 2.0~16.0 | X 120, 45 | 13 M6 4 2.2
SR 12 | o005 | 5.00~12.00 | 15~27 : ‘ 2.0~20.0 | 15 M6 5 2.5
YEC51 16 0017 1 10.00~16.00 | 24~37 2.0~28.0 20| 3 55 19 Ms 7 4
YEC52 20 | 8% | 13.00~20.00 | 27~42 2.0~36.0 : : 23 9 5
O X, YRIERTFSHEE,
@ FRigR .
— N0 0] B (B0 -‘ .&‘f -
E 96 P L B e
8- woreE e s, = o [oos[EsmR 6
BEERTH  YECOI—D6— P5—15—B10 HEMICT) OEEmLE DExEELE
[Of7i]mE:] @ FmEmnT
L) B/NERG0.01 ] G/NERIT [ BURERI0.1 = SNERG0.01] /N1 [ BNEET0.1] SN [/ NEERRT0 1
Y@iﬁh } D‘gﬁom £ 1 - > Yg.‘ﬁ1 [ D\ge"“““ = = - - 2
B> | 8=p =22 B> if &7 12=22 =3
YEC22 [ 8 48 5-9 14~25 =2 YEC42 T8 38 59 T4~25 | =2 =3, 212
YEC21—D6— P6—L15— B10 YEC41— D6 — P6 — L15— B10 — G6 — A5



	4: p23

